
















3. Compute and plot the variation in volume of the solid as a 

function of 𝛼. 

Next, it presented the plot of the variation in volume of the solid as a function of 

𝛼.  

Remark that the only feasible and physical solution is between -π/2 and π/2 rad 

as it is mentioned before. It is plotted the rest to show the behaviour of the curve. 

 

 

5. Compute the change in length of the diagonals AC and BD, 
and the change in the angle 𝛽 subtended by them. Interpret 
geometrically. Plot the change of lengths and the change of 
angle 𝛽 as a function of 𝛼. 
 
Next, it presented the plot of the change of lengths and the change of angle 𝛽 as 

a function of 𝛼. 

Remark that the only feasible and physical solution is between -π/2 and π/2 rad 

as it is mentioned before. It is plotted the rest to show the behaviour of the curve. 



 

 



 

 


















